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= 53O BIGIA Y= B=20IL SESCH SHEStE Hl=xst 222 HIZ & ZHUA JIIHAN HMSe=2
W NMSE6H0F & oIS 2 ez 22 = Ul

OIEAH =X AOIOIA JIE Hl=xst 228 &= 22 SAY 6=(motion estimation)0let) ot0Y, L0t
orE SAI=XE UEUE HRIE S YEE sHTt

CHAIZ Ol A, SEeEet Fao S BAS AolA s =A™ (Picture)lt 2= (Field)l MEZE
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S EE3F MS#EZOl MPEG40IAM 2&e mHAo S G=(integer pixel motion estimation)AlOl
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Px = Median(MVix, MV2y, MV3y)
M
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MR MVD coding(MV, code,*v|c mag,*residual ,*bitstream)

{

/*Find the minimum rate predictor among three neighboring
candidate,*/

R1, = RATE(MV, — MV1y),
R2, = RATE(MV, — MV2,),
R3x = RATE(MV, — MV3,),
Remin = MIN(R1,, R2:, R3).
P, min rate =MVi, corresponding to Ry min.
(At the same rate, the median has the highest priority for P,min_ rate)
MVD, min rate = MV,~P, min rate
/*Coding MVD, min rate

MVD encoding(MVD, min rate, f code,vlc code mag,residual ,bitsteram):

—~

gt#, HMiba= WXl Hbbe=es 2 Z£d2 sAYUE S0 HE ZEHIE 249 UgE 20 & O
DOSHUA ZAIGHACH.

BN, Mbaze= %i[—l ZCUAM TAlst A2 M, MW1=0, Mv2=0, MV3=3 0|11 BIHEE2 SHUHH
Mv=52 B2, WSUIA ZelZBH& MV1ot V220 O Ji0h2 MV3E otLtel =8 SHAUEZ HEEHCH

|
Ol 2AE SZUYE XH0IZ2HMVD min rate)2 27 =ICH.
a2 W=s0 2/oh MO minrateE RESCH. 1 Os 2= CI20IF &H
=XE A0 HEZ I ASHCEH.

UM ZAIS HeZA, 2 ZHO AAMUAE SN F i =20+ U

alo
o

9-3



L &2 12 AIHZLH 22 WD min rate2 CI2Y6oHEH &AM MVDmin rate?tsE XH0IJF JAL2 2
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MetA, O 20 AIZH=E 3 =2 SHYHE S0A &M SHLHH
OO0 2&¢ 22t QUL

OIIM = 2o SHYHUH RSt OHE els52 OoteHet &L,

MAX(MV1,, MV2,, MV3,)

max

MINCMVL,, MV2,, MV3,)

min
inside mv cnt=The number of neighboring candidates
whose corresponding blocks are inside of the VOP

distinct mv cnt=The number of distinct neighboring candidates.
(e.g. distinct mv.cnt=2,if MV1,=0,MV2,=0,and MV3,)
if( I max-min| >=THR & & insidemvent> =2 & & distinct mv cnt==3)

{ /* Minimum rate prediction is applied */

/* Minimum rate prediction and the corresponding MVD, min rate
MR MVD coding(MV,, f code, &vlc code mag, &residual, bs);

/* Determine MODE */
/* Step1 : Evaluate three MV candidates. =/
Candidatel, = MVD decoding(f code, vlc code mag, residual, MV1,)

Candidate2, = MVD decoding(f code, vlc code mag, residual, MV2,)
Candidate3, = MVD decoding(f code, vlc code mag, residual, MV3,)
/* Step2 : Check if "vlc code mag ts" and "resulting from
Candidate i,(i=1,2,and 3)encoding, have the same values as
"vlc_ code mag "and'residual", respectively. */
Candidate num = 0
MR MVD coding(Candidatel,, f code, &vIc code mag,ts, &residual ts,ts):

i f(vlc code mag,ts==vlc code mag, & & ,residual ts==residual)
candidatenumt++;
MR MVD_coding(Candidate2,, f code, &vIc code mag,ts, &residual ts,ts):

i f(vlc code mag,ts==vlc code mag, & & ,residual ts==residual)
candidatenumt++;
MR MVD_coding(Candidate3,, f code, &vIc code mag,ts, &residual ts,ts):

i f(vlc code mag,ts==vlc code mag, & & ,residual ts==residual)
candidatenumt++;
/* Step3 : Determine the MODE, and code it. x/

if (candidate num == 1)

No bit allocated for MODE,:
else if (candedate num == 2)

1 bit for MODEy;
else if (candidate num == 3)

1~2 bit for MODE,:
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else
{ /* Median prediction is applied. */
No bit allocated for MODE,;

}
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MR MVD_coding(MV, code,*vIc mag,*residual,,*bitstream)

{

/*Find the minimum rate predictor among three neighboring
candidate,*/

R1, = RATE(MV, — MV1,),
R2, = RATE(MV, — MV2,),
R3x = RATE(MV, — MV3,),
Remin = MIN(R1,, R2,, R3,).
P, min rate =MVi, corresponding to Ry min.
(At the same rate, the median has the highest priority for Py min_ rate)
MVD, min_rate = MV,—P, min rate
/*Coding MVD, min rate

MVD encoding(MVD, min rate, f code,vlc code mag,residual,bitsteram):
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MR MVD_coding(MVy code,*vIc mag,*residual ,*bitstream)

{
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/*Find the minimum rate predictor among three neighboring

R1Y = RATE(MVY - M\/W)y
R2y

RATE (MVy = MV2y),
R3y = RATE(MVy — MV3y),
Rymin = MIN(R1y, R2y, R3y).
Pymin rate =MViy corresponding to Ry min.
(At the same rate, the median has the highest priority for Pymin_
MVDy min_rate = MVy—Py min rate
/*Coding MVDy min rate

MVD encoding(MVDy min rate, f code,vlc code mag,residual,bitsteram):
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